1. Which of the following is a by-product
of solvey-ammonia process?

A.

B.
C.
D.

CO,
NH;

CaCl,
CaCO3

1.

freferfad & @ i |1 wred st ol
T Teh IU-IcTTE &7

A. CO,
B. NHj
C. CaCl,
D. CaCOj



What is the equivalent resistance of
three 5Q resistors connected in

parallel?

A

B
C.
D. 15Q

0.6Q2
1.67Q
50

uTdshH § GG 5Q o o1 Sfcrerent shr
e Sferre ferdar grmr?

A

B
C.
D. 150

0.6Q2
1.67Q
5Q



3.

Which of the following pairs represent
units of the same physical quantities?

A. Kelvin and Joule
B. Kelvin and Calorie
C. Newton and Calorie

D. Joule and Calorie

1 § & AT5ehT T i 9T SheT G i
Tf3T =t e1iaT 82

. Shica FR S

. Shlca ST HAT
T H AR
S SR HeAr

OO0 W »



4. Which of the following material will 4. frafafad o @ o ugTet & Hearor grar 82

undergo corrosion?

A. Metals only A Wm@ﬁ

B. Metals, Nonmetals, ceramics, B. Tq, 37uTq, e, weTféesh qom W o
plastics and Rubbers . 3

C. Metal & Nonmetals C. =g e =g

D. Metals, Nonmetals and Rubber D. %T@WT@Q?W&



Which of the following quantities

remain constant in a planetary motion,

as seen from the Sun?

A

Speed

B. Angular speed
C.
D. Angular momentum

Kinetic energy

5.

1T 5 & i ©ff RT3 T 3T 8 @ W
TRt Sl i | fRer Teedt €2

A. =T

B. i =Tl

C. Tfast 3t

D. iR d@am



Acidity of BF; can be explained on the

basis of which of the following
concepts?

A

Arrhenius concept

B. Lewis concept
C.
D. Bronsted-Lowry as well as Lewis

Bronsted-Lowry concept

concept

6.

BF; ot 37vetar ! fmfaiRad & @ form
AT o JTIT I GHATIAT ST el &7

A. SATEHTE SFarRem

B. TEH HSURUT

C. STHS-ARI SFTLIROM

D. SIS T 56 STTHROT



Diversity of all living thing depends on-

A

Geography

B. Presence of other species
C.
D. All of the above

Soils

7.

auft sfifere <fisi i fafarerar feft ot 8-
A, 9ITIA T

B. =1 ySiiea ot ufkerfa w

C. fidm

D. SWh aft W



The image formed by a concave mirror
is observed to be virtual, erect and larger
than the object. Where should be the
position of the object?

A. Between the principal focus and the
center of curvature

B. At the center of curvature
C. Beyond the center of curvature

D. Between the pole of mirror and its
principal focus

fereft ofer =T 37Tt gUor g a1 icifoia
AT, e o fofer & s om T o
sh Reerfl =gl €T =Tfew?

A. T RIHE qAT FhaT ohex o S
B. a5RAT 5 T

C. okl % 8 W

D. 34Ul ¢a T HE&T BIHH o sfi=l



9. Which is the wrong formula? 9. ffafad 4 & i &1 Tad g9 82
where SEIE

C, Specific heat of gas at
constant volume

R Gas constant
Y Ratio between specific

heat of gas
Cp Specific heat of gas at
constant temperature
A.
c.- R
y-1
B
Cp = R
y —_
C. C
Py
CV

Cy ReR g W i &t
farfemse 3omT

R 79 fadih

y 9 &t e semei

Cp fReR T W 7w ot
fafsme 3o
A. cv=l
y-1
B CID=yR
y_
C. C
Loy
CV
D. C,-C,=2R



10.  Vehicle's headlights are: 10. 3Tt o TUE (headlights) B4 8

A. Convex Mirror A. 3T g
B. Concave Mirror B. Tadd gqul
C. Plane Mirror C. |Hde g
D. All of above D. IWRE el



11.  The device used for producing electric 11, forgd amr 3ea i shl Ifeh i Fed -

rrent i 1l -
current is called a A SR
A. generator
B. NeaHHIeX
B. galvanometer
C. ammeter C. @'E(
D. motor D. "X



12. Which of the following is an
Endothermic process?

A. Dilution of sulphuric acid
B. Sublimation of dry ice
C. Condensation of water vapours

D. Respiration in human beings

12.

FrefaTRaa o & i &t AfulsRan o

HHRI[h TS I A ST
R[S % 3T JLaUTAT

STeT SIS SRl EEE

o o W >

as H Ah



13.  Which figure shows the correct relation 13.  STet o ST qUT A9 o o< Tt Ty
between volume and temperature of 9T o o SiEr 82

water? }/

07 (i) mwm 200C 0 (ji) A= 200C

o Volume
o Volume

Temperature 20°C Temperature 20°C

(i) ! (if) E V\ EV

<] <)
S £
E E
S S 0
GIELIE 0 e 200
0 Temperature 200C OTempeI’a’[ure ZOOC (“l) ZOOC (lV) 20 C
(i) (iv) A ()
A0 B. (ii)
B. (ii)
D. (iv) D. (@iv)



14.  The highly metallic element will have 14.  srcaferes enfedeh ded o1 SAFR I [I=TE

the electronic configuration of- -
A 2,81 A 2,81
B. 2,881

B. 2,8,8,1
C. 2,82 C. 2,8,2
D

D. 2,8,5 . 2,8,5



15.  Measurement of absolute zero in 15.  RRTSE THH T TR [ o AT B -
Fahrenheit scale is-

A. 273°F A 2T3F
B. _ 459F B. —459°F
C. 182°F C. 182°F
D. 0°F D. O°F



16.  Newton's first law of motion defines- 16.  =ge o Tl BT Terw o aieTi s &-

A. Energy A. it
B. Work B. &1
C. Inertia C. Sgd
D. Moment of inertia D. Stgc e



17. Which of the following is used in 17.  ufyfess uftre fafafaa o foraes fepvam

manufacturing of acetic acid by o Fffa e ¥
fermentation process? .

A. Ethanol A e

B. Ethanal B. ¥Hd

C. Methanol C. "ot

D. Methanal D. 399



18. T is the time period of spring when an 18.  Sfe s o Uk ST § TTehTS STt &,

;)bject squenf[jed téy it. h;_sprting cutsdind ST STaaF T 5| 7fe R 1 8 ser
wo equal parts and an object suspende o :
by any of the part, then what will be the Wﬁﬁfmﬁ aﬁral?orfﬁﬁm%qa@ HTTH
time period-(objects is same)? A, l SR ST BT
AT (& THH &)

NA AT

w

B.

O O
S %l N |- §|
—
o o
~ 4 %|N|—| %I
—



19. Which of the following terms does not 19, f=fctRad | & shiv-ar v forla aiwer §

represent electrical power in a circuit? fera wifks =Y Forefa et e
A. /2
Y A vy
B. VI B. VI
C IR C. |2

D. 52
IR D. |r2



20. At the time of short circuit, the current 20. I o SH G H fagd 9 A-

in the circuit- .
A. I5d FH B S B

B. uftafdd =<t g

A. Reduces substantially

. Does not change

B
C. Increases heavily C. sgd 3ffereh w1 ST €|
D

. Vary continuously D. fax ufiafda gmar g



21. Displacement of a particle along x-axis 21, x-3787 o STfaeT 0T T foreerma

is given by x —asin®wt. According to X = asin? ot Z T T S FU A R ¥
motion of particle-
IFTAR-
A. .
Frequency of SHM is o A o <
m TS ST T Y ST — &
T
B. . 3w
Frequency of SHM is — :
Y m 8. T ST T b AT 30
T
C. SHM will not happen C e S Y
D. Frequency of SHM is @ D

2n ' Waﬁﬁnﬁaﬁw@ﬁrzﬂ%
T



22. The nature of bonding in CCl, and

CaH, is-

A. lonic in both CCl, and CaH,

B. lonic in CCl, and Covalent in
CaH»

C. Covalentin CCl, and lonic in
CaH»

D. Covalent in both CCl, and CaH,

22.  CCl, wd CaH, H sier i wehfer -

A

B.

CCl, & CaH, 31 ¥ Tfa e
CCl, % sTmafe qom CaH, #
REPISEAC)

CCl, & gg&sie qur CaHy |
ST sfEr

CCl, Td CaH, 3Mi ¥ HeaaSsh 5y



23.  Any particle doing SHM has maximum 23. o AT i A Y foret shor 1

acceleration o and maximum velocity HATIHAH T o, qAT ST T 2
B . Then time period of vibration is-

el SHF ST SATIqohTeT BITT-

A. ﬁ A [32

o2 ?
B o B. «a

P [

o o
D. 2np D. 2xnp

|
|



24.  Slow setting cement have higher
percentage of-

A. Tricalcium Aluminate
B. Tricalcium Silicate
C. Dicalcium Silicate

D. Gypsum

24.

effeft iy & S et TiHe | foheeht yderd
37k BT 57

A. ZTghiceEd TeHiae

B. Irgehferad fafetere

C. er3hiorad fHfethe

D. e



25.  The refreactive index of glass is 1.5. 25. i< T SATSIdATH 1.5 Bl hid § TR hT

What is the speed of light in glass? <1t Ferartt 87 (Frata & seprer 1 =
(speed of light in vacuum is 8 ,

3.0x108m/s) 3.0x10°m/s %)

A 15x108m/s A 15x108m/s

B. 20x10®m/s B. 2.0x10%m/s

C. 30x108m/s C. 30x108m/s

D. 15x108m/s D. 15x108m/s



26.

In destructive distillation, coal is
converted to-

A. Coal gas, coal tar and coke
B. Petrol and Methane
C. Natural gas and coke

D. Coal tar and Petrol

26.

fored SR RT STTEE SR Shidel shi giatad
et STTaT 2-

A. HId NE, HITdR Ud hish §

B. Ui Ud WA |

C. STehide 719 Td ik §

D. IR T U2iet §




27.  Which of the following is not an
example of Redox-Reaction?

A. CuO+Hy—Cu+H,0

B. BaCl,+H,S0, —> BaSO, + 2HCI
C. 2K+F, —2KF

D. 2Mg+0, —2MgO

217.

FfTRad o & i €1 AR e
CuO+Hy -»Cu+H,0

BaCl, +H,SO, — BaSO, + 2HClI
2K +F, — 2KF

2Mg+0, — 2MgO

o o w >



28. The potential difference between the 28. e =t forgr Eiex forggd =i @ 4A forra

terminals of an electric heater is 60V ST oIdT & 99 39 2t o s farsreiae
when it draws a current_of 4A from the 60V 31 3 T Fere Sret Rt fea o
source. What current will the heater ) S ©
draw if the potential difference is T Sret feraTier BT 120V T sret faa
increased to 120V? SITaT?

A. 0.18 A B.4A A. 0.18 A B. 4A

C. 8A D. 15A C. 8A D. 15A



29.

In Gama Rays emission by a nucleus-

A
B.

Only no. of proton will change

Number of proton and number of
neutron both change

No change in number of proton and
number of neutron

Only number of Neutron will
change

29.

Teh ATIeh § TTHT foroTl o Icdsi |-

A
B.

FA MEH shi Tt aRafd gt &
ufeafdd st &

STeT ol T SR g ol T §
g TR el BT §

Fae g T afEfa ardt 8



30. In Bohr's Model, atomic radius of first 30. IR Hied H YS! FHe hl warioges B

orbit is 'ry', then radius of third orbit is- ', &, e et e st s gt
Al A 1
d 9
B. 1 B. 1,
C. 91 C. 9r,



31. Which of the following depends on

temperature?

A

Molarity

B. Molality
C.
D. Mole percent

Mole fraction

frefafad & @ @i arg w feft et 82
A. i

B. Hicterar
C. HId-3i9
D. Hiet ufaera



32. The magnetic field inside a current 32.

carrying solenoid is-

A.

B
C.
D

Zero

. Uniform

Decreases away from the axis

. Increases away from the axis

fereft foreger ermcramelt aitTfereht o sfiag
[ BT €

THHTH T 2

3787 & g T T 2|

o o W >

37&T ¥ S T TG 3



33. Which of the following is smallest unit? 33.  frmaferfad ® i o1 g i U 82

A. Millimeter A. ficfidfier
B. Angstrom B. TEH
C. Fermi C. wHf

D. Micron D. g



34.  X-ray beam can be deflected by:

A
B.
C.

An electric field
A magnetic field

Electric field as well as magnetic
field

Neither electric field nor magnetic
field

34.  X-forot foreafua &t wekdt €
A. fomgd e g
B. TFEehid & g
C. forega o Jrrehrr ST &1 g
D. 7 o= & 3R 7 reehia & 51



35.  In which of the following equilibrium 35. frmferfaa & @ fomm wmer erfsrforan o

number of moles of reaction products gfferar 3carey 3 |l sh Eear gaTT Rt
remain same when each of the following :

equilibrium is subjected to a decrease in s 3 TR AT H FH AT S
pressure by increasing the volume? A

PC|5(g)  — PC|3(g) + CIZ(g)
PC|5(g) — PC|3(g) + C|2(g)

B.
— CaO(s) +COy(q) ——CaCo
CaOs) + COyg) =—"CaCO0g) (s) 2(9) 3(s)
C.
3FE(S) + 4H20(g) = Fe304(s) " 4H2(g) 3Fe(s) +4H20(g) ==Fe304(s) +4H2(g)
D.

N2(g) +3H2(g) ==2NH3( N2(g) +3H2(g) ==2NH3z(g)



36.

Ratio —

No. of moles of solute

Mass of solvent in kg

define as-

A. Mass percent

O 0

Molarity
Molality

Mole fraction

36.




37.  The reducing agent used in Blast
furnace to reduce iron oxide to iron is-

A
B.

Ca0o
Sio,
CO
Zn

37, grear Y § I SHTHTES o =T °
S B AT ST &-

A

B
C.
D

CaO
SiO,
CcoO

. Zn



38.  What type of chemical reaction take 38. oo STt W fergrd 9T wanfed fopam ST €
place when electricity is passed through forg wepTe Y TrETE e srff e 82

water?
A. faeeme safufera
. Combination Reaction B. wiei tffsRam

B
C. Decomposition Reaction C. 3uees Al
D. Double-displacement Reaction D. redt forzema sifuferan

A. Displacement Reaction



39.  Magnetic Meridian is- 39.  Fuehr AT (FAfe wfefe) &

A. apoint A. T g

B. aline along north south B. W ¥ fequr w@n
C. ahorizontal plane C. afis aqaet
D. avertical plane D. Fealer grad



40.  The first link in any food chain is
always a green plant because-

A
B.
C.

They are widely distributed
They are firmly fixed to soil

They alone have the capacity to fix
atmospheric carbon dioxide

All of the above

40.  forelt oft wTer s Y Teel el TR Th
A. 339 & © foafid 8
B. dgeay gt H g g
C. o 3fohcl ARIHSHIY HleH STEHTRATES
i STE AT & T 2
D. 3TRh G+t



41.  The half life of any radioactive material 41, forelt tearafereer waref st 314 3117 10 fire

is 10 minute. Initially number of nucleus 8 e yrtw o FiRyeRt &y d@w@aT 600 B A
is 600, then how much time will be 450 TR ¥ Rrefed 8 3 ey —
taken to decay 450 nucleus-
_ 2T
A. 30 minute A 30f
B. 10 minute B 10f
C. 20 minute C. 20 e
D. 15 minute D. 15fme



42. A particle in SHM with amplitude 'a’ 42. '3 AT § A T T L g Th 07

have equal kinetic and potential energy Y Tt wa Reufast 3t srre 2t ster
when its displacement is- ST R ST
A a A a
2 2
B' a\/E B a,\/z
C. a C. a
2 2

D. zero D. I

[N



43.  The Sun gets its energy from which of
the following process?

A. Nuclear Fission
B. Photoelectric Effect
C. Chemical Reaction

D. Nuclear Fusion

43.

T A St e # & fora
sk ST ITH Bt &2

AT foRge
EEANAELERUIE]
RIS BIERI)
TCHTY] HeAd

O 0o w >



44. A solution is prepared by adding 2g of a
substance (A) to 18g of water. The mass

percent of the solute is-

A. 15%
C. 10%

B. 20%
D. 5%

44,

2g UeTd @l 18g T T forerT o Uk foretam
AT T o (A) T ST gfdera
-

A 15% B. 20%

C. 10% D. 5%



45.  Polythene, PVC and Teflon are all 45.  qiferefis, oY ot ©f SR 4T SeTET 2-
examples of-

A. Tsholh
A. Monomers
B. Homopolymers B. WHAgH®
C. Copolymers C. Heelgah
D. Condensation polymers D. Ho Sgaih



46. Molecular formula of some 46.

hydrocarbons are

CyHy, C3Hg, C4Hg, C3Hg and
CgHy, . Which two belongs to same
homologous series?

A

B
C.
D

C,Hy, CaHg
C,Hy, CsHg
C4Hg, C3Hg
C3Hg, CsHyp

& BIEGIHISAT ok STV T

CoHy, C3Hg, C4Hg, C3Hg T CsHyp
21 370 W S U 31 SIS IhTe U o Saa
o waifer 82

A

B
C.
D

CyHy, CaHg
C,Hy, CaHg
C4Hg, C3Hg
C3Hg, CsHyo



47. Which of the following can not be 47, fefaftad 9 @ fora gfaa ==t forar s

polarized? ghdT?

A. X-rays A. X-feor

B. Ultrasonic waves B. qU¥sg ad
C. U-V Rays C. uTreTHY foRor
D. Radio waves D. fearain



48.  Which of the following phenomenon is
not possible when sound waves are

superimposed?

A.

Stationary waves

B. Diffraction
C.
D. Beats

Interference

a1 a3 ST ¥ HEfaiaa g @
I ) T geda T8 82

A, SATTHT 8T
B. foeda

C. safcrertor
D. fowas



49. A car of mass 1000 kg is moving with 49.  ue FR FEH F57HH 1000 kg T,

a speed of 30 m/sec. To stop the car, 30 ™Y /Aehe I TG o I &I 2| S0 Uk
brakes are applied. If friction force 3 Y

between tyre and road is 5000 Newton fore 57 ST &1 2 2T SR Heh
then time taken by the car to stop its aaﬁn“aﬁ%rm‘waa 5000 = &1 dl 1L ki
motion is- ok | T ITAT 98I BRTT-

A. 05 second A. 059he

B. 10 second B. 109

C. 12 second C. 129%s

D. 06 second D. 06¥shs



50.

A
Symbol ZX shows that nucleus

[pOSSesses-

A.

Z Neutron, A-Z Proton

B. Z Proton, A-Z Neutron
C.
D. A Proton, Z Neutron

Z Proton, A Neutron

50.

w3 X ET R i
A.
B. ZWIeH, A-Z=gH
C.

D. AYWRH,Z=gH

Z =M, A-Z IRH

Z WeH, A=IZH



51. The human eye forms the image of an 51. w3 forg st R foreft e ot Wfdifelar

object at its: T, FE T
A. Cornea A. ST
B. lris B. ufarfent
C. Pupil C. qacit
D. Retina D. gfvdea



52. Which of the following is an example of 52. {97 T W i U ol o o oRL01T BT T

renewable source of energy? 3ETE0 9

A. Petrol A W

B. Natural gas B. Wil e
C. Biogas C. s
D. All of these D. 3TRh G+t



53.  If coefficient of superficial expansion of 53.  fe forelt q 7 &t SER Tunies B dr

any metal is B, then coefficient of 39T AT IGTE 0TIk BITT-
volume expansion of it is-
A B

A. E ry

2
B. 38 B. 3
C. 3 C. 38

2 2
D. 2B D. 2B

3 3



54. From left to right in a period, the atomic 54. uw iftee (wqE) # T & 21 o] -

zd"l' A. Tt
. Increases ,
B. =edigl
B. Decreases '
C. Remains same C. TUF a2

D. None of the above D. 3I9h | ¥ IS Al



55. Which of the following is the residual 55. fmfetfiad W & i Te |e o fwfor #

product in the formation of soap? MRS IaTe ¥

A. Glyceraldehyde A. figefeegre

B. Glycerine B. fawde

C. Glycerol C. fiaata

D. None of the above D. 3§ | &5 el



56. A convex mirror used for rear-view on 56. forelt SATeremse | e o1 g9 9@ & a7
an automobile has a radius of curvature STANT B ST S @907 hY Fshar s
oo e eS0T g e soom
image is: 3t ot feerdt €, <t ticifofar <ht Rerfer
A. 1.15m at the back of mirror A. T U 1.15m T gl T E
B. 1.15m at the front of mirror B. UUTh AT 1.15m ol g T &

C. 0.23m at the back of mirror C. T e s 0.23m I g d

D

. U AT 0.23m T W E

D. 0.23m at the front of mirror



57. Which one of the following is a polar 57. FAfaRed 5 @ % T gei 1] 82

molecule?

A BR A. BFR
B. SF, B. SR
C. SiF, C. Sik
D. XeF, D. XeF,



58.  Which of the following compounds
contains no covalent bonds?

A

B
C.
D

KCI, BoHg, NH3
KCI, H,S0,
KCI, BoHg

KCl

58.

ffarfaa § for ARl o #IE TeeSF
ser TET 87

A

B
C.
D

KCl, B,Hg, NHg
KCI, H,S0,
KCI, BoHg

KClI



59.  Mass M is suspended with a massless

spring has time period T. If another
mass M is suspended towards same
direction, then time period of
oscillations is-

A T
B. T

V2

C. 2T

D. 2T

99.

ST e T & S1eshid Sea9TT M i
3 Sh1et T &) A< 380k TR T 31
SIHTT M TeehTU e ST ohl ATIdehld
-

A T

B. T

NA

C. 2T

D. 271




60.  Which of the following pair is Isotones? 60. {7 o & = |1 I HERIgTE 82

A s 0 A Thso Tiog
® o ° S
C. ?éMo, Zng C. ?éMo, %Zr
> fhca. s > fhca, s



61. A particle doing simple harmonic
motion, following statement is true
(for mid position):

A

Acceleration is zero

B. Velocity is maximum
C.
D. All of the above

Kinetic energy is maximum

61. TTeT Ta i L T 0T o forC, A ferRaa
FYT T I T T § (AT et w)?

A\ TERT I B

B. AT AR &

C. ot 3t Aferehaw Y
D. 3URh G+t



62.  Which of the following cells can be
recharged?

A.

B
C.
D

Dry cell

. Lechlanche cell

Lead storage cell

. Both (B) and (C)

62. f=ferfaa o @ form et w1 st forarm
HehelT 82
A. gEHA
B. TIoRA &
C. T VIS ¥
D. (B) QYT (C) gt



63. Dimensional formula of light year is- 63.  werrRr A 1 ot 9 €-

A. [T] A. [T]
B. [L] B. [L]
C. [LT] C. [LT]

D. [T_l] D. [T—l]



64. Ozone layer is present in- 64. TSI W WG -

A. Troposphere A. &ivHedd
B. Mesosphere B. HEThRR A
C. Stratosphere C. gadU s d

D. Exosphere D. dfedead



65. The following reaction is used for the 65. T H AT 9 s o T
feeferRa stfrfsram st = foha Stmar 2)

preparation of oxygen gas in laboratory

Hea

which of the following statement is
correct about the reaction?

A. It is a decomposition reaction and
Endothermic in nature

B. Itis acombination reaction

C. Itisadecomposition reaction and
accompanied by release of heat

D. Itisa photochemical decomposition
reaction and exothermic in nature

SCHT
2KC|O3(S) S — 2KC|(S) +302(g)

SHIh SATTshaT o o fefafaa 0 @
I T HYT G &7

A
B.
C.

I8 Ueh farere e Isaee eafrfspan 8
7T U TS AfTRT )

Ig Uk forere srfufsran € s St
JcdfSid Bt 2l

IE Teh ohTT TE ek forere v
IsHTET SAfrfsRaT 2



66. A compound contains 4.07% hydrogen, 66.

24.27% carbon, 71.65% chlorine. Its
molar mass is 98.96g. Empirical
formula of compound will be-

A

B
C.
D

C,H4Cl,
CH,CI
C,HCl,
C,H,Cl

T AT T 4.07% TTESISH, 24.27% Hie

HIX 71.65% FARI &) U1 HITK oA
98.96g &I AfiTeh AT FATITA FF B1TI-
A. CyH,Cly
B. CH,CI
C. CyHCI,
D. C,H,CI



67. The compound that does not produce 67. o i St ardi fosres gry ATgeiee |

nitrogen gas by thermal decomposition T ST 8-

is-

A. Ba(N3), A. Ba(N3),

B. (NH4),SO, B. (NH4)2S0,4
C. (NH,),Cr,0; C. (NH,),Cr,04

D. NH4NO, D. NH4NO,



68. Which of the following is an oxide ore? 68. frmfciad o & &9 ©T Uk ATHTES SREh

: 22
A. Copper pyrites
A, HILITSEH
B. Iron pyrites
B. 3T UTEUseH
C. Zinc blende C. Rigsar
D. Zincite D. RieEe



69. The temperature of 1 kg of water is
60°C. When it is mixed with 1 kg of
water of 40°C, the temperature of
mixture of water will be-

A
B. 20°C
C.

D. 10°C

100°C

50°C

69.

1 ToRTIT STt T ATIHT 60°C B 38 40°C aTed
1 fora st & forer o) e St o1 amome
T BIT?

A. 100°C

B. 20°C

C. 50°C

D. 10°C



70.  The name of hydrocarbon formed by 70.  uefifem e § o Tl SEgienen

Aluminium-carbide is- T T &-

A. Ethane A. 399

B. Acetylene B. wfyfecti=
C. Methane C. #oq
D. Ethylene D. seficfia



71.

If kinetic energy of a body is increased
by 0.1%, then percentage increase in
momentum will be-

A
B. 0.1%
C.

D. 10%

0.05%

1.0%

71, Ffe foret fuue il T1fast 311§ 0.1% T Ja
Rt 2, 1 3Tk "am H yfowrd afes 2rl-
A. 0.05%
B. 0.1%
C. 1.0%
D. 10%



72. Among halogen, the correct order of 72, TANHI T SAFH AT TATH 1 Tt o

electron gain enthalpy is- 2-

A. F>Cl>Br>1 A. E>Cl>Br>|
B. F>Cl<Br>I B. F>CI<Br>I
C. F<CI>Br>lI C. F<CI>Br>I
D. F<Cl<Br<I D. F<Cl<Br<I



/3. 100J of heat is produced each second in
a 4Q resistance. Find the potential
difference across the resistor.

A. 5V
B. 15V
C. 20V
D. 25V

73. fordt 4Q wfaRieres ¥ Ifd ¥ehg 100) SoAT
3 21 &I 8| Tfatreres o ot o fasaiat
1 shifsT)

A

B
C.
D. 25V

5V
15V
20V



74. Which of the following atom has
minimum lonization potential?

A

B.

14
7

133
55

40
18

16
8

N

Cs

Ar

)

74, e 1 T qeaT] st SHATEH forve =Haw
gT?

A. 14N

B.

C.

7

133
55

40
18 Ar

Cs

16
80



75.  Solar cooker is a device which convert 75. G o T UET TR & ST HI ST hi

solar energy into- T gfafdd sar 2|
A. Electric Energy A. foga st
B. Thermal Energy B. ardfig it
C. Sound Energy C. &t St
D. All of these D. 3w aft



76.

If f(x) isapolynomial

ax® —x? —5x+b (where aand b are

constant) when (i) f(x) is divided by
(x—2) the remainder is 36 and

(i) f(x) isdivided by (x+2) the
remainder is 40. Then find the value
of aandb.

a=42,b=1
a=-1,b=42
a=1b=-42
a=1b=42

o w>»

76.

afe f(x) ThegTE ax® —x? —5x+b ¥
(STef a 3T b 3= ) 51 (i) f(x) T

(x —2) Taranfsra foram smar 2 o Swwa

36 3TN (ii) f(x) = (x +2) & forfora
foRaT ST @ 1 It 40 ST 8] A7 3=
a 37T b =7 A J1q IS

A a=42,b=1

B. a=—1,b=42

C. a=1,b=-42

D. a=1,b=42



77. Name the type of triangle PQR formed M. f= p(\/E’ ﬁ),Q(—«/E,—«/E) 3
by the points >

P(V2,42),Q(~2,~/2) and R(~6,/6) grr aferd frgst PQR 1 7
R(—V6,v6). A. ToeTg B
A. Equilateral Triangle B. @HehIT Bryyst
B. Right angle Triangle
gntangre Triang C. qufgaTg Bt
C. Isosceles Triangle =
D. Scalene Triangle D. forw &g Byt



78.  The value of k for which the quadratic 78. k = fore 9T o fore fgamde wefiemtor

equation 2x% —kx+k =0 have equal %2 _kx+ k=0 T Tl T 1 GH 21
root is- °

A k=08 A k=08

B. k=2,4 B. k=2,4

C. k=36 C. k=36
D. None of the above D. 39k H ¥ hls At



79. EBCDIC is-

A.

B
C.
D

6-bit coding system

. 7-bit coding system

8-bit coding system

. 9- bit coding system

79. EBCDIC -

A
B. 7-fore shifeT faeen
C.

D. 9-fore shifeT foeen

6-fore ahifeT freed

8-fore =ifeT foreen



80. A biconditional is symbolised by this- 80. e faheiaet SEehT Tdieh 2-

A. P<Q A. pP<q
B. p&q B. p&q
C. pvq C. pPvq
D. n-p D. n~p



81. A ladder 15 m. long just reaches the top
of a vertical wall. If the ladder makes,
an angle of 60° with the wall, then find
the height of the wall.

A. 15m.
B. 95m.
C. 7.5m.
D

. 10 m.

81.

15 T ieft Teh it Uk Seater e &
=i o) agerdt Tt g% 8| a8 Higl A |

60° T FHIVT ST 8, AT SR shl IS 1
shifery|

A. 15H

B. 9.5H#eX
C. 75X
D

. 10X



82.

If the volume of a cube is 1728 cm3, the
length of its edge is equal to;

A. 7cm
B. 12cm
C. 18cm
D. 19cm

82. o u oy st 1728cm3 & dre
foF T (W) =,

A

7cm

B. 12cm
C.
D. 19cm

18 cm



83. For what value of x the given triangle is 83.  x st for®r AT o for foarm e it

Isosceles, where A is a vertex angle. qHLISTE BT STET A 3 i )
A A
5x -7 23 Bx_7 23
B C
3x -5 B v C
A x=-6 A x=-6
B. x=2 B. x=2
C. x=5 C. x=5
D. x=6 D. x=6



84. If the height of a tower and the distance 84. afe forefy AR it S=ms SR SHF TR &

of the point of observation from its foot, Sequr foig <l &, ST A 10% T geat
both are increased by 10%, then the SN %3&% S EI;'UTEF[W
angle of elevation of its top remains- ’
T BT

A. unchanged

| A. srtada
B. changed by 10% B. 10% qhafia am
C. changed by 20% C. 20% gfefda B

D. changed by 5% D. 5% ufEfid g



85.

Factorize the sec

A

B
C.
D

2x+5tanx+5

. (tanx—2)(tanx—4)
(tan x + 2) (tan x+4)
(tan x +2) (tan x+3)

(tan x —2) (tan x—23)

85.

sec? x +5tan x +5 I v @Us FIfvr)
A. (tanx-2)(tanx—4)
B. (tanx+2)(tanx+4)
C. (tanx+2)(tanx+3)
D. (tanx—2)(tanx—23)



86. In a flower bed, there are 23 rose plants 86. forell BoraTl H Uget Uitk H TeTTe o 23,

in the first row, 21 in the second, 19 in AL GRE Y 21, G IREF 19 DT e R
the third and so on. There are 5 rose ? .
_ e St dfeh 7 5 T o 9rd o 8l
plants in the last row. How many rows
are there in flower bed? o {1 & fopa Jd o 1 dfepat €2
A. 21 A. 21
B. 13 B. 13
C. 10 C. 10

D. 17
D. 17



87. In acircle of radius 21 cm, an arc 87. BISAT21 cm Tl I T T AT heg T 60°

subtends an angle of 60° at the centre, T RI0T SR HTaT &: =17 T s Bt
then the length of the arc :

A 22cm A. 22cm
B. 23¢m B. 23cm
C. 24cm C. 24cm

D. 25cm D. 25¢cm



88. A cone whose radius and slant height is 88. 5 cm s 3R 13 em Frieh S a1t v

5 cm and 13 cm respectively; then the £ S B
height of the cone;

A. 12cm A. 12cm
B. 12.5cm B. 125cm
C. 13cm C. 13cm

D. 13.5cm D. 13.5cm



89.  Which of the following statement is 89. ufmy dwea & foru fom & & e 1 v

wrong for rational number? G (TTed) 82
A If % is a rational number and m is a A. afe & afr b & it m w quts
b N
non zero integers, Then 2 = &M G & ST 721 o SR el @, et
b>m a_axm
B. If % is a rational number and m is a . b~ bxm
. a .
common divisor of a and b, then At b e e @ ST m, a 7T b
E: a-+-m & H a a-=+m
b b=m T 8T = e
C. Except zero, every rational number C. I I BISH Gl TR & GTeHeh
is either positive or negative 21 AT SROTTeH
D. Ifa, band c be rational number, D. af a, b 3Kt ¢ fie e, e e ar

such that a>band b>c, than

a<c a>bdab>cdd a<c



90.

Value of

OO w

1+cosx sin X
2secx
2tan x
cot x
2C0sec X

sin X +1+cosx .

90.

sin X 1+cosXx
+ T 7 EIT1-

1+ cosx sin X

A

B.
C.
D

2secXx
2tan x
cot X
2cosecx



91. Find the value of angle C in the
following picture.

b=15
40.48°
104.48°
140.48°
240.48°

Cow>»

91. famifera fort & 10T C %1 919 1 IfvTT)

oo w>»

b=15
40.48°
104.48°
140.48°
240.48°



92.  Find the value of each variable in 92. st DCE #H Weish =R o1 W 1 hIfS|

ADCE
~ E
B 7 E 5 C
C 85°(>
85°(>
A 9,
A b D
— ARO v = QN°
A. X =45y = 80° A x=45%y=80
B. x=85°y=40° B. x=85°y=40°
C. x=40°y =85 C. x=40°y =85
D. x=55%y=285° D. x=55°%y=285°



93. PQis a chord of length 8 cm of a circle
of radius 5 cm. The tangent at P and Q
intersect at point T. Find the length TP.

w | o

93.

e g foreeht Brsar s gt A 3w aa |
T ST PQ 8 B.HfY. I 8 P 3T Q W

1 {ETd & S T o T 6 T e €,
Al TP Y oIS J1a shifsTg)
P
(o
Q
A. 20
3
B. 40
3
C. 10
3
D. 5
3



94.  The points A (9, 0), B (9, 6), C (- 9, 6) 94. fsg A (9,0),B(9,6),C (-9, 6)3K

and D(—9,0) are the vertices of a- D(-9,0) T 3t &-
A. square A. @it

B. rectangle B. Jd

C. rhombus C. @Haqyst

D. trapezium D. &Hetr



95.

Given log? = a,log3 = and log3 =y,

express Iog7% in terms of o, B and y.

A

B
C.
D

200— B +vy
o—vy+p
a+ B+y

B+vy—a

95. ﬁ-q-l-% |Og% :a,|og% =B 3T |Og$ =7,
dl log7 2 &1 o, p 3y HEad
Ffireeh it

A

B.
C.
D

20— B +y
oa—vy+p
a+ B+y

B+y—a



96. If (x+2) is a factor of the polynomial 9. an (x+2) B 8@ 53 + 4x% + Tx+k

x3 +4x% +7x+k (where k is a (K T 3T=R 2) 1 UM @US 8 @t K 1 A
constant). Then the value of k is ---- S -
A 3
% Ay
B. 6 B. 6
C. 5 C. 5

D. 3 D. 3



97. The area of a triangle with vertices 97.  BrysT T &vhet FT GRTT SRR 3

(a,b+c),(b,c+a) and (c,a+b) is- (a,b+c), (b,c+a) 3 (c,a+h) &
A. a-b-c A a-b-c

B (a+b+0o)? B. (a+b+c)?

C.0 C. 0

D. a2 4p? 42 D 2

-~ al+b+c



98. Two tangent TP and TQ are drawn to a 98. gy Tuef w@Td foREt O vz ATt 91 W el

circle with centre O from an external forea T & aeffell oz 3 A1 /PTQ 1
point T. The /PTQ is ;

P
P
T
T
Q
Q
A. 2./0PO A. 2/0PQ
B. LOPQ B. ZOPQ
C. 3£Z0PQ C. 3£0PQ
D. 1 D

o1
2 =~ /0P
240PQ > Q



99. Calculate the ratio of the area of the two
triangle AABC and AA'B'C’' shown in

figure.

| /A 44 B
A< 91m >B
A 1:4
B. 1:2
C. 1:3
D. 1:7

99. femr ff @ MU AT oSt AABC 3

AA'B'C' % &% o STAT ol T
e

A< 91m »B



100
- W
hat i
is (1
111
)2 +
(10
01)
2—(L
0
10), =2
100
.1
11)
2+
001
)2
(10
10)
) &
S
7

A
.
) (1111)2
. 00),
(1110),
&7
A
. au
B )
L1 2
3 00)
(1110)2
2

D
. (10
10)
2
D
. (10
10)
2



101. If asin®+bcosO =c. Then the value of 101. zf¢ asin®+bcosf=c &,
acosf-bsin® is- ac0s0—bsin @ T A ERTI-

A a?—p?—c? A

B. Va? - b? +¢? B.
Co Ja2ip2-¢? C. Zipi o
' x/a2+b2+<:2 D.

a’+b%+c

/az _p2_¢2
Va? —b? +c?
2

[ 2



102 ¢ (3)°7% = (27)*72, then find the value 102. ot @)X =@l a, A xFAR @
of x. Hifsrg
A. A

@
|_\
N|oo NN N[O N w
@
[EN
N|w NN DO D w



103. What is the probability that two friends
have different birthdays?

A

1/365

B. 2/365
C.
D. 363/365

364/365

103. 2 ft & SAfeT STeTT-37e 814 i
TTfreRdT =R B1?

A. 1/365
B. 2/365

C. 364/365
D. 363/365



104. The centroid of the triangle divides each 104. Bt o sheseh Tyt <l |l Afeent

median in the ratio- R 31T & siear 29
A. 3:1 A 3:1
B. 2:1 B. 2:1
cC. 1.1 C. 1.1
23 23
D. 5:1 D. 5:1



105 |f a4 b:ab=4:1, where a>b>0. 105 afz a+b:Jab=4:1S®ia>b>0.
Then find the value of a : b.

A (o) (2 6)

dda:b &IHEJE FIRT

A (2+V3){2-\3)
> (20 B)(2-5) B (-2+43):(2-43)
© (3+42){3-V2) C. (34+2):(3-+2)
> (3V2):(32) > (3-V2):(32)



106. For the following distribution: 106. freferfad sfe o ford AT Siauret 3T

Class | 0-5 | 5-10 | 10-15 | 15-20 | 20-25 g AU hl =reft dwT hr AT ©-
Freq. | 10 | 15 | 12 | 20 9

#Haue | 0-5 | 5-10 | 10-15 | 15-20 | 20-25

The sum of the lower limits of the median Sar | 10 | 15 12 20 9
class and the modal class is-
A. 15
A. 15
B 25 B. 25
C. 30 C. 30
D. 35 D. 35



107. A train travels at a certain average speed

for a distance of 63 km and then travels
a distance a distance of 72 km at an
average speed of 6 km/h more than its
original speed. If it takes 3 hours to
complete the total journey. What is its
original average speed?

A. 52
B. 42
C. 50
D

.39

107.

T LTl 319t Ffera =t @ 63 for Y. iy
ot 7 Lt 81 31T 72 fop oY, Bt gl =n
6%n°r uﬁwaﬁﬂﬁwﬁmarrﬁﬁ%
3 =TT § sk =Tt L a7 it 2

F G AT h1 7 B | 3 5 AT GHT
ST B AT LTl ST aTEdferh fied =
T B

A. 52
B. 42
C. 50
D. 39



108. A term used for a temporary storage that
compensates for difference in data and
data flow between devices-

A

Buffer

. Bus

B
C.
D

Channel

. Modem

108. ueh Sreemelt WewUT o fAIT SR[h & ara
1o ST 22T H AT shl WIS 3T ITHLTN oh
sfier S21 JaTg oft et B-

A, TH

B.
C. =Hd
D



109. A triangle in which all the sides are
equal, all the angles are also equal that

is 60°. If each side of the triangle is 'a".

Then the area of the triangle is-
A. ﬁ 2
2

B. J§a2
3a2

NERe
4

109.  ferelt ISt o |vfl ST ST &, 36k ot
hioT oft SIS 60° 21 AT IS oAl Teh 91T
'a’ & B T &ha grT-

A

N
2

J3a?

3a2

V32
4



110. A large circle & a small circle are 110. us =12 I 3TN B I THEY 8, FAT(oh-
similar because- ]
A. T ST THH &
B. Their area is equal B. 5o &R S &
C. Their perimeter is equal C. o qiewTy ST §
D

. T 9 HIE T

A. They have same size

D. None of these



111. A die is thrown once. What is the 111. Uk 9TH I Uk S %okl STAT 2| Teh 3THST

probability of getting a prime number? ST ITH B ST STRIeRdT T gr?
Al A1
2 2
B. 1 B. 1
6
C. 2 C. 2
3 3
D. None of these D. 8 ¥ whis T



112. In the given figure, ZAOC and ~/BOC 112. f@mafea® ZAOC 3R ~BOC Rasw

form a linear pair. If x—y=60°, find T T &l X —y =60° T x 3Ty FTAM
the value of x and y. NGRS
C C

X y . . X y
A O B “A O B
A. x=120°y =60° A. x=120°vy =60°
B. x=60°y=120° B. x=60°y=120°
C. x=090°y=090° C. x=090°y=090°
D. x=45°%y=135° D. x=45°%y=135°



113. The Pythagoras theorem is related to; 113. YTSemTIT YO hT TFelel 2,

A. Right angled triangle A. @R e
B. Rhombus B. ¥mEq{e ¥
C. Similar triangle C. wHed =¥

D. None of these D. 3 9IS Il



114. 1f a constant value is added to every 114. g 327 o Yedeh AR | Ush fEe) A

observation of data, then arithmetic ST ST &, AT ST T T &
ol armetc mean e T T T A

A. Subtracting the constant A. Reorem = ger w

B. Adding the constant B. o i Siigd W

C. Multiplying the constant C. TR =l o & W

D. Dividing the constant D. Remm @ Wi



115. If the length, width & height of 115. fg TrrdTer e i as, dteTs 3K

rectang'ular prismis 8 cm, 6 cm & 4cm TS ShATT: 8 cm, 6 cm 3T 4 cm §, d
:g;spectlvely; then the volume is equal ST S BN

A 192em3 A 192cm®

B. 194cm? B. 194cm®

C. 196cm? C. 196cm®

D. 198cm3 D. 198cm3



116. What is the relationship between angle 116. foeifera fe T 10T & (La) ST
a(Za) and angle b(Zb) in the b(b) 3 st Fam gy £
following figure?

A. FEFTET R
A. Vertical angle
B. Complementary angle B. T\T’EW
C. Supplementary angle C. 3T HI0

D. None of the above D. 39k H A IS Tl



117.

Value of cos? 0 is-
A. 3

—+lcosze+lcos4e
8 2 8

B. 1+§cosze+lcos4e
2 8 8

}+£C0329+§COS49

% (1+cos 26 +cos40)

117.

cos™ O =T T BNTI-

A §+%c0529+écos46

B. l+§cosze+lcos46
2 8 8

1+£c0529+§cos46
2 8

% (1+cos26+cos40)



118. In figure; ABC is an isosceles triangle, 118. ABC U aulgaTg BV €, [Seeht shior

right angled at C, therefore- C GHIUT 3] d9-
B B
C H A C H A
A AB% =2AC? A AR? - oaC2
B. BC? = 2AB? B. B2 _ onp2
C. Ac?=2AB? C. AC? — 2AR2
D. aB? =4ac? D.

AB? = 4AC?



119. ARST is congruent to AXYZ. Find the

value of n.

T 00 50°
90°
Y

"%

R

20°
40°
45°
35°

o w>»

119. st RST Brfst XY Z o1 wafmem &1, ar

EIRERIGE IS
S Z
" /\
90° 0
2(\-\—10)
T Y ( X
A. 20°
B. 40°
C. 45°
D. 35°



120. Find the central angle of a circle of 120. 10m FISaT ATt T I 1 F-51 10T J1d

radius 10m that cuts off an arc length of HITST, ST 20m & <19 3T STFITS o hredT
20m.
2l
A. 2 (Radian) A. 2 (e
B. 20 (Radian) B. 20 (g )
C. 10 (Radian) C. 10 (fszm)

D. 5 (Radian) D. 5 gz



121. Area of the triangle ABC in the given 121. fA= T ® AABC T &hat T &2

figure-
c C
b a b §
P
A P B A~ > B
< c > C
A A 1 .
1bcsinA EbCS'nA
2
B B. )
ZacsinB —acsinB
C. 1 ) C. )
—absinC %absmC

D. Above all D. 39U @i



122. A triangle consists of three sides and
three angles. Then one of the following
statement is false.

122. ueh Bt foreehl ST SR i shior &1
3 foT 7 o 6 o6 &1 e 318 &2

A. Bryst o T 3 1T h1 AT HE

A. The sum of three interior angles of a

triangle is always equal to 180°

180° BraT &

. The sum of exterior angles of the B. st o oIt SITar shivT ot A0 BHE
triangle is always equal to 360° 360° 2T 8

: If_the length of two sides of a C. af st 36 & wsTral 1 e S A
triangle are added together, then the 9 o
resultant sum is always smaller than fOTTE R ST T TS & TR et
the length of the third side. g

. The side opposite to the smallest D. Frvs ¥ gad 812 37 197 F aia
interior angle of a triangle is always > S = .
the shortest side of the triangle. %msﬁ o= gmﬁﬁ@ﬁ?ﬁ

alil



123. Sides of two similar triangles are in the 123. 3t gwey Frgsii it ST 4:9 o ST W 2

ratio 4 : 9. Areas of these triangles are in =7 Bl 3 Swett T 31T &
the ratio: ° °

A 2:3 A 2:3

B. 4:9 B. 4:9

C. 8116 C. 81:16

D. 16:81 D. 16:81



124. 1f we are given a system of two linear 124, f&3 wr e gt agx+byy = ¢; 3R
equation ax+byy =¢; and 8, +Dbyy = C, 1 A3l T ST e
a,X+byy =c,, then the system have ¥ gt e afe-
unique and infinite number of solution-

A. aq bl a1 bl Cq

A _ba bog a, by'ay Dby cy

=TT 2 D az Dy G

a; by a; by ¢
B. aq b]_ aq bl C1
S a_bha b o by bya, by C
by by'a, b, c 1 72 %2 T2

1 D2 da D2 G

C.

a by b g

C. a by ag by ¢ ,
_1¢b_1,_1¢b_1: 1 2 0,2, by 0
ap 2 dp Dy Cp

D. a b, a b C

D. a; b a b ¢ R R L R

* B a; by a; by ¢

a, by'a, by ¢y



125. Which of the following can not be
determined graphically?

A.

B.

Mean

Median

Mode

None of these

125. fam=ferftad o @ forer o g frafie ==t
foRaT ST HehelT 22

A. T
B. #iftaget

C. sge

D. 378 @ s Tl



126. The area and base of a triangle is 126. f fopelt BIVST o1 &=het 3T ST SHAST:

(3+J§)cm2 and </3cm respectively. (3+J§) & qur /3 dALE A
Find the exact simplified surd form of PIST ol 39TS B SRofl oh &9 1 91 hifg)
the height of the triangle.

A 3(1+\/§) A 3(1+\/§)

B 3(1-+2) B 3(1-12)

. 2(1+43) C. 2(1+43)

D 2(1-3) D 2(1-3)



127. value of 127. 0052 600+5in2 300+tan2 600+tan2 30°

cos? 60°-+sin? 30°+tan? 60° + tan? 30° 1 0 EIT1-
is-
A.
A 6 3§
35 5
B 32 B. 32
g 5
C.
C 31 3Z
6 6
D.
D 3§ 3E



128.

Value of cos7—7T is-
12

A

J2+6

4

NG

4

G

2
+

NA

2

128.

(:057—TE T O EITT-
12

A J2+6

B J7-\6

C. 53

N

O
>
o

N



129. 1§ X = 25 then which of the following
will be minimum?

A 3 (X -27)2
B. y(x-22)2
C. y(x-25)?2

D. $(x +25)?2

129, 3fs X =25 & 1 o & & Rroeer o
H BT

A

B.

(X —27)?
3(X —22)?
3(X - 25)?

3(X +25)2



130. Which of the following diagrams best 130. fAfetfiad § & it ST GHIH, Tl

depicts the relationship between A a3 ST geier i gefiia s ¥
Smoker, Lawyer, Non Smoker? =

A O A. O
O O O O



131. Given that a.+p=90° then find the 131, fer e a+p=90° ar

value of \/COSacosecB—comsinB Jcosacosecﬁ—cosasinﬁ &1 HH ETI-
tan o A. tana

B. sina B. sina

C. cosa C. cosa

D. coseca D. coseca



132. In a disjunction, even if one of the 132. s foae 1, wel €t Ush U 319 g,

statement is false, the whole disjunction Aot fas a9 off-

is still- h

A. False A Ted

B. Neglected B. 3fer

C. True C. &t

D. Both True and False D. && 3 Tad gt



133. Solve the following equation in the 133. fmfaftad arfisor st fae (0, 2n) °

interval (0, 2m) RIS
. 2 _
2sin” x+cosx—-1=0 2sin?x +cosx -1=0
Ao 4 A 2 4n
3'3 "33
B. 0,m,3n B. 0,7, 3n
Cogrsm C.ogrsn
22 22
D. 013_TE15_TE D. 3t 57
22 057



134.

If sin(A—B):1

2
1
cos(A+B)==

N

0°<(A+B)<90°
A>B,
find the value of A and B.

A. A=35°B=25°
B. A=45°B=15°
C. B=15° A=45°
D. A=60°B =10°

134

" afe sin(A-B) =

1
2
1

cos(A+B)=

N

0°<(A+B)<90°
A>B,

al A 3T B &1 719 J1d IS

A
B. A=45°B=15°
C.

D. A=60°B =10°

A =35 B =25°

B =15°% A =45°



135. Find the binary equivalent of the 135. IIHEAT TE&AT 543.625 Tl TSR THERE

decimal number 543.625- -

A. (1000111111.101), A. (1000111111.101),
B. (1100011111.101), B. (1100011111.101),
C. (1000011111.101), C. (1000011111.101),

D. (1001011111.101), D. (1001011111.101),



136. Metallic spheres of radii 6 cm, 8 cm &
10 cm respectively, are melted to form a
single solid sphere; then the radius of
the resulting sphere is:

A. 12cm
B. 125cm
C. 13cm

D. 13.5¢cm

136.

W:6cm,8cm3ﬁ'{100mﬁw?rﬁ5ﬂﬁ
HITq) o o1 31 Tl ol Uittt Teh aIgt

TTTAT ST ST &; et (FfeoTrT) 3t Brsar
g,

A. 12cm

B. 12.5cm

C. 13cm

D

. 13.5cm



137. A toy rocket is fired into the air from the 137. ue Tiohe (Raef=m) i B & W d gar d

top of a barn. Its height (h) above the T ST 81 36ehT e (h) i are (yd) &
ground in yard (yd) after t second is

given by the function t oh e o &9 H 36 Tehr feam mm €|
2 .

h(t) = —5t2 +10t + 20. When will the h(t) =-5t° +10t + 20. ar fore T ek
rocket reach its maximum height? T SATRrRAH FaTg T BT
A. 2second A. 2TFe
B. 1second B. |d%c
c. % second c. 1 -

2

D. 5 second D. 59he



138. The median of a frequency distribution
is found graphically with the help of-

A. A histogram

B. Frequency curve
C. Frequency Polygon
D. Ogives

138.

Teh STHSTAT sie ohl ATRAeRT TIE T &9 &
forerehl TeTIaT | 31 Shl STt 82

A. T o
B. &R ash
C. s agis
D. amer



139. Find the circumference of a circle whose
area is 301.84cm?.
A. 60.6 cm
B. 61.6cm
C. 62cm
D. 62.6.cm

139. wep ot sht wftfer vt shifsg, forersht sshet
301.84cm? %

A

60.6 cm

B. 61.6cm
C.
D. 62.6.cm

62 cm



140. For a symmetrical frequency
distribution which of the following is
correct?

A.

mean < mode < median

B. mean > mode > median
C.
D

mean = mode = median

" mode = % (mean + median)

140. us guftra sismar sied & ford Freferfiaa
0 o |t €2
A. T < g < HTTeRT
B. T > Sgeeh > WIeaeH
C. HIEH = 5§ = HILHHT
D

| g = % (VT -+ HTTeRIehT)



141. cCalculate the co-ordinates of the point 141. forg 'P' oh H<xTih 2hT TTUMT 2hITSTE ST foreg

‘P’ which divides the line segment A (L, 3) 3R g B (5, 9) #r e areft
joining A (1, 3) and B (5, 9) in the ratio Ny _

1-2. w1 ;2§ ffora st 2

A. (7,5) A. (7,5)

B. (3,5) B. (3,5)

ey " 5]

D. (1,9) D. (1,9)



142. In a truth table for a two variable 142. 39 deh o oI tes g diferent & ugd

argument the first guide column has the TEE Fiem & freferRad o #:
following values:

A T,T,FF A T,TFF
B.EETT B. F,F,T,T

C. T,FT,F ¢ TLRTF

D D. T,F,FF

. T,FFF



143. ABCD is a parallelogram with vertices 143. ABCD U &I =S & foreent 2

AL, y1).B(X2,¥2) and C(x3,¥3). A(x1,¥1),B(X2,Y2) 31 C(x3,y3) T
Find the value of the fourth vertex D in 50 9 3 D A Xy, X0, X3, Y1, Y2
terms of Xq,X5,X3,Y1,Y> and ys. 3R yq ¥t i A

A B

A B
DZ :C DZ :C

A (Xg+Xo+X3) (Y1+Y2+Y3) Ao (X +Xp+X3) (Y1+Y2+Y3)
3 ] 3 k)

3 3
B. (X3+Xp2—X3), (Yy1+Y2—Y3) B. (X1+Xz—X3), (Y1 +Y2—Y3)

C. (Xq+X2+2X3), (y1+Y2+2y3) C. (Xq+X2+2%3), (Y1 +Y2 +2Y3)

D. (x3+X3—X2), (Y1+Y3—-Y2) D. (x+X3—X2), (Y1+Y3—Y2)



144. Which of the following can not be the 144. fyeferfad ® & i Teh T2 it TTReRdr

probability of an event? 751 o R 2
A. % A E

3
B. 03 B. 0.3
C. 33% C. 33%
o7 0. 7

6 5



145. |n what ratio does the point (1, a) 145. forg (- 1, 4) 3T (4, — 1) i STrgHaTed W@

divided the join of (- 1, 4) and (4, — 1)? Em%'ri (1, a) Wwﬁm%‘? 9’ T
Also find the value of ‘a’. i 1714 o1t 15
A 2:3 a=2 A 2:3 a=2
B. 2:3a=1 B. 2:3,a=1
¢ 2:la=3 C. 2:1,a=3
D. 1:2,a=3 D. 1:2,a=3



146. Diagnostic routine is a program used to- 146. srEHIREe T TIUTH T SUANT Rt STrar

-
A. print error messages )

A. Rz e
B. dubbing 5 =i
C. data transfer C. ST T
D. print output D. fiig 3freqe



147. If length, breadth & height of the cuboid 147. Ffe omme i TS, TISTE aUT TS SHA:

is 12 cm, 10 cm and 8 cm respectively, 12 ¢cm, 10 cm TT 8 ¢cm BT T ST S
then the volume is equal to; 2N
A. 3

96cm

A 96cm’

B. 3

960

cm B. 960cm®

C. 9gocm® C. 9g0cm?
D. 990cm® D. 990cm®



148. |f for any frequency distribution, the 148. zfe forelt ST sie shi ATfesrshTt 10 3R

median is 10 and mode is 30, then TR 30 &, AT AT T STHTT TH B
approximate value of mean is equal to: = >

A. 0 A0

B. 10 B. 10

C. 30 C. 30
D. 60 D. 60



149. In the figure below, a circle with radius 149. 12 Qvfl BisaT aTel T I I T THETE

12cm is inscribed in Inequilateral ST ABC o 34 19T STTaT @ By &7
triangle ABC. Find the perimeter of the qgmqmwl N
triangle.
A A

B 30° S C B = D C
A 72 3cm A. 723 atft

B. 24 3cm B 243 %t

C. 123cm C. 123 @ft

D. 1043cm D. 103 &+t



150. Which standard govern parallel 150. ¥ 1 A AU TeR T R wear

communication? 29

A. |EEE 1284 A. 3TTEEss 1284
B. RS-232 B. 3ARUH - 232
C. CATS C. 5

D. None of them D. 0 ¥ IS Al



